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(b) Evaluate 10% 2.

(c) A C-variable cannot start with
) an alphabet
(i) a digit

(i) a special character other than
underscore

(iv) Both (i) and (iij)
(Choose the correct option)

(d) The exXpression qg= 22/7*
evaluate the value of a as

~(Fill in the blank)

S5/3 would

() Which of the following escape

Sequences moves the cursor position
to the new line ? ik

i) \r
@ \n
i) \t

(iv) \v (Choose the correct option)

=

() State whether the following declaration
is allowed in C :

Char str[3] = “GOOD";

3(Sem-5/CBCS)STAHC2/G o




(g) Array can be considered as a set of
elements stored in consecutive memory
locations having

(i) different data type
(i) same data type
(i) same scope

(iv) None of the above
(Choose the correct option)

2. Answer the following questions briefly :
2x4=8

(@) Differentiate between hardware and
software.

(b)) Write the output of the following
C-programme segment :

{
inta=4S5;
float b=3'5;
a=a+b;
b=a-b;
a=(a+b)/2;
=(a-b)/2;
printf (“%d %f”, a, b) ;
}
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